
Arithmetic Challenge 1
134 + 235 =             64 ÷ 8 =             3 × 12 =             

56 ÷ 7 =             8 × 6 =             581 − 254 =             

3 × 9 =             872 − 135 =             661 + 138 =             

565 - 233 =             237 + 422 =             33 ÷ 3 =             

625 + 183 =             48 ÷ 4 =             4 × 7 =             
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Arithmetic Challenge 1 Answers
134 + 235 = 369 64 ÷ 8 = 8 3 × 12 = 36

56 ÷ 7 = 8 8 × 6 = 48 581 − 254 = 327

3 × 9 = 27 872 − 135 = 737 661 + 138 = 799

565 − 233 = 332 237 + 422 = 659 33 ÷ 3 = 11

625 + 183 = 808 48 ÷ 4 = 12 4 × 7 = 28
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